Gleichungssysteme I

Wende das Additionsverfahren an!

1.) 3x+2y =7 2.) 5x+ 7y =48
Ox + 4y = 11 3x + 7y = 54

3.) 9x + 9y = 36 4.) 4x + 5y = -59
5+ 3y =4 -2X -7y = 61

5.) 5x + 5y =-15 6.) -5x + 3y =12
7X + 8y = -18 O9x + 3y = 54

7.) 9% + 3y =-30 8.) -4x -8y = -52
-6x + 8y = 10 2X + 2y = 12

9.) -4x -4y = -32 10.) 9x - 6y = 99

2X + 5y = 31 2X + 7y = -3
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Gleichungssysteme I

Wende das Additionsverfahren an!

Losungen

1.) x = -1
y = 5

2.) X = -3
y = 9

3.) X = -4
y = 8
4.) X = -6
y = 7

5.) x = -6
y = 3
6.) X = 3
y = 9

7.) X = -3
y = -1
8.) X = -1
y = 7
9.) X = 3
y = 5
10)x = 9
y = -3
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1.) 6x + 5y = -36

8x + 7y = -50

2.) 5x + 6y = -64

-6x + 7y = -51

3.) O9x + 9y = -45

5x + 3y = -31

4.) -6x+ 9y = -51

-4x + 3y = -31

5.) -8x + 3y = -39

-3x + 4y = -6
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Gleichungssysteme 11

Wende das Additionsverfahren an!

6.) -8x + 3y =-26

2X + 7y = 22

7.) 3x+ 7y =-10

/X -4y = -3

8.) -4x + 3y = -15

6x + 8y = 60

9.) -2x-6y =24

5x + 8y = -18

10.) 9x + 6y = 15

-6X + 7y = 67
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Gleichungssysteme 11

Wende das Additionsverfahren an!

Losungen
1. x = -1 6. X = 4
y=-6 y=2
2. X =-2 7. x =-1
y =-9 y =-1
3. X = -8 8. X =6
y =-3 y = 3
4., X =7 9X=6
y =-1 y =-6
5. x = 6 10. x = -3
y =3 y =7
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1.) -3x + 7y = 66
4x + 8y = 16

3.)-7x - 8y = -45
Ox + 9y = 54

5.) -2x -5y = -19
9x + 6y = 69

7.) 5x +2y =11
3x - 6y = 21

9.) 7x + 3y = 39
2X + by = -22
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Gleichungssysteme III

Wende das Additionsverfahren an!

13

2.) 7x -2y =19
Ox + 4y = 77

4,) -7x - 5y = -43
4x + 4y = 28

6.) -8x + 9y =73
6x + 6y = 60

8.) 5x + 9y = 28

3x + 7y = 28
10.) 2x + 4y = -4
/X + 9y = -24



Gleichungssysteme III

Wende das Additionsverfahren an!

Losungen

1.) x=-8

6

2.)

X
oo Ul

<

3.)

< X
i1
w W

4.)

1|
w H

< X

5.) X

N

6.) X

O =

7.) X

8.) X

9.) x =9
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Gleichungssysteme IV

Wende das Additionsverfahren an!

1)

2)

3)

4)

-47,63
58,43

-9,1x -4,7y
9,1x +2,0y

1,6x +9,5y = 86,21
6,8x +0,5y = -28,37

-2,3x +2,1y = 20,93
-1,6x +6,3y = 36,82

-6,5x +7,0y = 110,05

-1,7x +8,6y = 93,09

10)

-7,8x -2,5y = 52,76
4,5x +0,3y = -39,12
8,6x +0,9y = 69,88
4,6x -1,6y = 34,88
2,2x +1,8y = 16,10
5,3x -7,2y = 14,56
7,4x +7,3y = -12,79
1,8x -5,8y = 37,04
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Gleichungssysteme IV

Wende das Additionsverfahren an!

Losungen

| | | | | | | | O | B
NN > >

Xx=17,3
X =-4,9
X =-4,9
X =-6,7
X =-9,2
X =8

Xx=5,6
x=3,5
x=-7,1
x =-3,1
Xx=09,3

X=7

10
11.
12
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